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KL"“" M is the largest 4 digit number, which when divided by 4, 5, 6 and 7 leaves &

remainder as 2, 3, 4 and 5 respectively. What will be the remainder when M is

divided by 9?
M 4 3iehi <l AaH T GE&AT 7, ™A 4, 5, 6 3R 7 ¥ T &7 W awwet
THATT: 2, 3, 4 AAT 5 ATAT 8l AT M &t 9 A Forifsre forar I, ot iewet s

FTT?
1)2
M) 1
3)3
4)6

s )
A
iy




g then what is the value of x ?

5
=% X T AT FTA




A person buys 100 toffees at 10 a rupee and 200 at 5 a rupee. He mixes them

together and sells at 4 a rupee. Find his profit per cent profit.
Teh SATvh 100 T TEEAT § 10 STt 1 9T Y 3 |, 341 200 TRt 5 2ThT 1

TYT 1 AT Sl Ty A 4 21 afa sug ¥ A Qar @ v gfave e
=2

1) 20%

(2) 25%

(3) 40%




&P/ If a+b=10 a! + b! = 58, then find ab.

AT ab T AT AT HIfTQ)




/R
)

@®/ ¥, part of a tank is filled with oil. After taking out 60 litres of oil, the tank is 3

part full. What is the capacity (in liters)
Teh ehl T 3/4 WTT 0T A ST AT 81 60 et aet Teter o 3 o1g eht @t 2/3
WRT 9T TFAT 21 Sehl Y &rve (e W) = giniit?

(1) 240
) 360
3) 600

M) 720




A man purchased a box full of pencils at the rate of 7 for Rs.9 and sold all of them at the

rate of 8 for Rs.11 In this transaction he gained Rs.10 .How many pencils did the box

contain ?

Teh ATEHT 9 TUA | 7 T W E UTHeT § WX Ueh Ao ©HIET 3T 8 hT XA 11 $UF § a9 T
39 A-a7 | 3 10 TUA BT AT gAT| At | Ferat Uidret off?
A.100 B.112 C.114 D.115




/R

-1 !n
L:f; # The percentage of metals in a mine of lead ore is 60%. Now the percentage o H
silver is %% of metals and the rest is lead. If the mass of ore extracted from

this mine is 8000 kg, the masss (in kg.) of lead is :
AT 21aEh o T T | 60 Sfaera o 21 =it s ufarera amg w1 3/4 gidva @
3R 9w whiom 21 Tfe @ & 8000 FRIT starew frewTarT SiTaT ©, ot ga fonam fema

sfer
(1) 4763
y) 4764
(3) 4762
(4) 4761




/R

A shopkeeper increases the price of an object by 40% and then sells it at 2578
discount on the marked price. If the selling price of such an object be Rs. 2100,

&
 — y

its cost price for the shopkeeper was?

W13 TSR fohdlt aEq shi hIAa 40 TIfareTa =7gT 3T 2 iR o i sifera v w
25 TfaeTa Y P2 S T AT 31 1S 30 T i Fha 9o 2100 € 2 At I3y

THER & foT0 38 o T o6 Hodt T AT?
(1) 3000

) 1500

“ g) 1750

2000







I —

S . ion - SS .
B After giving 20% discount on an article there is a profit of 20%. What will bet_—

the profit percentage when no discount is given?

Teh TET WX 20 ST Y P 3 & q1g Wi 20 Af9ra T A AT 1 PEA A W
forar afaera &1 AT FT?

F
)

(1) 40 |
2) 44

54
y) 50




(1) tan?A + sin’A
2) cot’A + cos’A
Wot’A — cos® A

(4) tan® A —sin* A




A 20 litres of mixture of milk and water contains contains milk and water in the ratio 3:2. 10 litres
of mixture is removed and replaced with pure milk and the operation is repeated once more. At

the end of the two removals and replacement , what is the ratio of milk and water in the resultant

mixture ?

T4 R U o 20 TiteT THsroT & gor SR art w1 S13uTa 3:2 21 10 e forsror st ger foem 9 8 @i
| 713 39 T Taet T AT 7 SR AT w6t Ueh AR U Srear Siat 81 2 e SR ufieermam

3fa ®, TRoTHT firsror 7 g &R O T SrguTa FET B2

1)9:1
2)8:1
3)7:1

d)none




A man bought a number of clips at 3 for a rupee and an equal number at 2 for a rupee. At what

price per dozen should he sell them to make a profit of 20%?

Teh SATEHT ¥ Ueh U W 3 o W T g (AT TR 3T 3a &1 foreTu Uk T oF 2 o 9T & TR 20%
T TTH HUTH o (o1 IH I8 UTd S fehd shiFd U ST TTEU?
A.Rs.4 B.Rs.5 C.Rs.6 D.Rs.7




N
)

—

- ,- D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD
DB =2 : 3, what is the ratio of area of A ADE and area of quadrilateral
BDEC?

AABC &t 99T AB 3R AC W D 3R E fg 1 DE, BC % @AM 31 a4 AD :
DB=2:3%, A ADE % 3R 9t BDEC % &% T FTR?

) T p——

)4:21 -1
)4:25
(3)4:29
@)4:9




5:“3*' A batsman scores 98 runs in the 17" match of his career. His average runs p& .‘.,:__

match increased by 2.5. What is his average before the 17" match?

Teh TEdTNT o 9 Hit@Teh 17 9 A9 W 98 W S| 37eh Wil #er N aa Hi o 2.5
1 g g8 173 <0 & Tgel ITRT Ao T 82

(1) 58 -]
) 60.5

) 63
)




K.,_ﬂ 3 Rs. 6000 is divided between A, B and C so that A receives 1/3 as much as B aX ,.,
C together receive and B receives 2/3 as much as A and C together receive.

Then the share of Cis :

%. 3000 ST A, B 3R C W 30 TR fawiia frar mar fof A, T BT C & et
R T 1/3 T B Y A 3R C ¥ FeT 70 &7 2/3 TTH 34T 31 A C T e A
E 2
(1) Rs. 1200 |
(2) Rs. 1525

3) Rs. 1625
4) Rs. 2100




) {

KL”“"?* An amount was lent for one year at the rate of 18% per annum compoundin$t: H%?)
annua]ly, Had the compounding been done half yearly, the interest would have

increased by 324. What was the amount (in Rs.) lent?

T ST ot 1 9 o ot 18 wifrere ifat wshafe samst i et & Suw fean mam
sh ST AGATING g U AT 324 & 9 WTaT gl SUAR &F T3 YU (§. W) T
oft?

(1) 32000

2) 36000
3) 10000

(4) 72000




N

L_.'-.. —

)
o =5 The height of the right pyramid whose area of the base is 30 m“ and volume Y-
500 m? is
30 W2 TUR qUT 500 W =T O fufae 6y s e = e

9

2) 40 m
3) 60 m
420 m




- ' In a 100 mt race ,kamal defeats bimal by 3 sec ,if the speed of kamal is 18 €=
km/hr ,then the speed of bimal ?

100 HieT Y S H AT A foHe oAl 5 Uchs W ST, 3R A ehi TS 18
e, At R ey 2

(1)15.4 -]

(2) 145
ya) 14.4

@) 14




Mission Selection - SSC 2024

The radius of based of solid cone is 9 cm and its height is 21 cm. It cut into 3 parts by two
cuts, which are parallel to its base. The cuts are at height of 7 cm and 14 cm from the base

respectively . What is the ratio of curved surface areas of top, middle and bottom parts

respectively?

T 3N Vi & e <t e 9 At e sweh Sed 21 At } 30 &Y Hera, WY TR & THTEAR
T 3 AT ST T T FTUR O SHAI: 7 At 7T 14 A, S8 W) ) w79 Sy, we

AT Frerer AT o ok TEiE SoheT sht AT 9T 32
1)1:4:8

2)1:3:5
31:3:9
41:6:12




Find the remainder (987!!I + 37) +~ 988

~15 IIITEHTT AT &Y (987567 + 37) + 988

)38
3) 37

(4) NOT




4 Find the smallest among V5,V6,V7 and V/30
10 gmasersmst?




An article is sold at 10% profit. If its CP and SP are increased by Rs. 15 and
Rs 5 respectively, the percentage of profit decreases by 5%. Find the cost

price.

TH TET T 10% T T ST ATAT 8. AfS 38k 7T Hed AR Frshar gear 7 st
15 3R 55X Y qfeg, T ATAT &, AT TATH BT AFAIA 5% THH B ATAT 3| TR Hed

L GRS

) Rs. 213
3) Rs. 512

(4) Rs. 312




2/3 of a commodity is sold at 30% profit, 7 is sold at 16% profit and the rest
at 12% profit. If a total profit of Rs 75 is earned, then find the value of the

commodity.
T SR & 2/3 AT T 30% FITH U AT ATAT &, S 1/4 HARTRT 16% T W @w

ATt 3 3R ARl 12% T OR. 918 75 A T her oI ATt fohaT S @, v g
T T AT Y ?

1) Rs. 300
) Rs. 250
3) Rs. 350

(4) Rs. 325




— What will be the product of the divisor of 900?
19 900 % WISTH T TGS T [SAH FAT ERIT?




number is divided by 16 what will be the remainder?

Ife v vEar 96 | vl fRrsTar A T F w14 T e, afe

T &t T 16 € RS e smar @ & 9w s/ g

If a number is divided by 96 then we get 14 as remainder. If thrice of the

@) 20
3) 16

4) 14




The smallest multiple of 7 which when divided by 6, 9, 15 and 18
respectively, leaves 4 as the remainder in each case?

7 3 T ST W BIET HAT AT HA: 6, 9, 15 3R 18 & sl et 2, oY vedrw
AT T AW o &9 W 4 I dT @ a7 ST 71 hl?

(1) 366 |
3) 370

(4) 380




3/5
10%. If there was an overall profit of Rs. 32, Find the value of the

consignment.

of a consignment was sold at a profit of 15% and the rest at a loss of

Th @ % 3/5 AAT HT 15% % ATH G ST b1 AR AT R 10% F

THAT W, Al 32 TAT /T ATH FAT AT &H 6T Hed A1 0 ?

1) Rs. 640
(2) Rs. 460
(3) Rs. 960

(4) Rs. 740




together and sells at 4 a rupee. Find his profit per cent profit.

A person buys 100 toffees at 10 a rupee and 200 at 5 a rupee. He mixes them

T AR 100 TR GAEAT 2 10 SThRT 1 TUT 6 A, 3R 200 AT 5 21T 1
AT T T A,ZAT hr Arer firerent 4 2y afer sae & S 2ar ,ar @ afavra wma

w2

1) 20%
(2) 25%

(3) 40%

4) 50%




K / A man buys two tables for Rs 1750. He sells one so as to lose 10% and the ]
24 other so as to gain 15%. On the whole he neither gains nor loses. What does

each table cost?

Teh ATSHT 1750 TUA | Y T THEAT gl 38 Teh W 10% kY T ae
AW 15% FTATH A VT A THA TR A v , A eaer

T T Y 2
(1) Rs. 1000, Rs. 750

(@) Rs. 950, Rs.800

(3) Rs. 1050, Rs. 700

(4) NOT

[







